N = 0l & At & Ml A

SN URSEBANAL
Mz FOHAXI(BH/BHAZ)

Sl BAWINH L WS A& CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
HESSE AN 342,307 317,589 24,718
DOHAAXK(EAH/BAHOYR) 254,683 238,209 16,474
SAEFINE & s 254,683 238,209 16,474

A2 ¥ A2 XA 254,683 238,209 16,474
101 @121l 51,543 51,736 A 193
04 JI2ZtH2Z2XNEE S 51,543 51,736 A 193

OHERESEEHNA 29 51,543
(OPIF=S= 44 410 33 208! 27,712
Osgx¢ 44 4103 x3H 96 Y 12,791
OuwEH| 5,000& *3H 208 3,120
Oz &t 5,000& *3H x208 3,120
OIESY 80,000 x3H 10 2,400
OY ZE =t 400,000 *3H 23| 2,400
201 Bt A | 121,210 114,543 6,667
01 AtR 22l b 55,765 65,885 A 10,120
OLbtx=2H| 31,215
ORoFHsE L2 260,000& x12& 3,120
OXSUAMAAE 5 45,000& x12& 540
OFMEYHAS 110, 000& *x53] 550
OASUMEH S 150,000& x12& 1,800
O&IIHtEEH = 300,000 x12& 3,600
OsAIHNEH M= 150,000& x12& 1,800
O&ZIl EIIEA L otX A A
120,000& *13] 120
OaUWBIIE =4 1,000,000& *13] 1,000
Od+==xX HA 350,000& *23] 700
OF AN AR2E 2 180,000& ~12& 2,160
ONEE2 2 30,000& x12& 360
O0IJAANA L HHSE M
1503 *2,000& 45 1,200
OMAE=ZE2 Z2AI2X 2 45,000& »58F A 225
OXY} SUE MO d+2H ns
120, 000& *2H 240
OLE BHAYE A28 & g2 ¢ 13,800
, LOAIEE RLUAMES
1,000 1,000 2= 2,000
s 2AaSEFEE ARE 250,000& 4= 1,000
. EAUX EEZ2 500,000 2= 1,000
, AstZ g dH EEE 5,000& *x1,000™ 5,000
. 2SANEE EE2 3,000& 700 2,100
., OlS=22IXEANE S22 8,500& *2004 1,700




SN HRESRBANA
FH: ZUALNIA(EH/BEHAZ)
& EHHIXNRZ € X (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
. LI230tE HLAEHE S22
10,000& = 100K 1,000
o=zg=+¢ 16,700
Og& g 80,000 1 1152 9,200
OMe g +& 30,0003 x1H »250 7,500
o1l =l 1,850
OFAME(BEE2H9 =)
35,0003 *21H %23 1,470
oA 190,000 =1 *23] 380
ogxz 6,000
O=AtJ| 300,000& =10« 12& 3,600
O&=7| 50,0003 «4CH =122 2,400
02 =224l 65,445 48,658 16,787
OAEZHI S X 20,200
OFE M= 2el 1,000, 000& 1,000
Oat S UHIAIE =2
1,000,000& 14 1,000
Oxlz & ZAEH =2l 200,000& 103 2,000
OMAHEL %2 200,000& »23| 400
OM=Ea &HHl =2l 30,000& »50CH 1,500
OURXE Xx-&d #HII(0R) sA&el =
14,000, 000& 14,000
OUXE X-& ZHl FEIIZAHI (3" =21)
300,000 300
03323 % HA 40,866
O2NLS RERS 100,000& = 12& 1,200
odIIe2 2,750,000 x12& 33,000
O&ol=ER=a 275,000 128 3,300
O3 3a(H2) 100,000& »23| 200
OAVIEV(RELSE) NEE
6,000 «4CH 122 288
OAZotdH 3l | 48,000& x13] 48
OEASMEEZ 200,000& =13l 200
OM=E4d o128k 282 350,000& =13l 350
OXts Al 130,000& = 1CH 130
OsiEE= 350,000 104 350
O 2HII=S fE Al 150,000& 128 1,800
O Xt& & EHY| 4,379
Oxg®FHl 2,035&3«72| 20 x1CH 128 3,419
Oxg &l =Xyl 80,000 =1CH*12& 960
202 o4dl 2,500 2,500 0
01 = LH o4 1l 2,500 2,500 0
O&2| o dl 2,500,000 2,500
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2N ERSERANL
Ha: ¥H2AAH (LRSS BANL)(OIEH/IIE)
Y (LRSS 2AK L) (B9 ®R)

K- ZE SR (3) - HRAY - BaS il HImEET

O= &l 18,144
OZHM&2H 18, 144,000& 18,144

202 O4dl 51,840 45,600 6,240

01 = LH o4 4l 51,840 45,600 6,240
OZHoHI 240,000& x18H «12& 51,840

203 Q2 =AY 4,200 4,200 0

04 EAS2IYRFLH| 4,200 4,200 0
ORN2EYE=AHI 350,000 = 12& 4,200




